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1. Which state has the highest Buddhist population in India?

a) Arunachal Pradesh
b) Himachal Pradesh
¢) Jammu & Kashmir
d) Maharashtra

ANSWER: d) Maharashtra

Explanation: Maharashtra has the highest Buddhist population
followed by Karnataka, Uttar Pradesh, West Bengal, Madhya
Pradesh, Sikkim, Arunachal Pradesh, Jammu & Kashmir, Tripura,
Himachal Pradesh.

2. Which Indian state has the highest Christian population, as per
2001 survey?




a) Andhra Pradesh
b) Assam

¢) Jharkhand

d) Kerala

ANSWER: d) Kerala
Explanation: Kerala has the the highest Christian population

followed by Tamil Nadu, Nagaland, Meghalaya, Andhra Pradesh,
Jharkhand, Maharashtra, Karnataka, Assam, Orissa.

3. Which state has the highest percentage of Muslims in India?

a) Assam

b) Jammu & Kashmir
c) Kerala

d) Lakshadweep

ANSWER: d) Lakshadweep

Explanation: Lakshadweep with 95% has the highest percentage of
Muslims followed by Jammu & Kashmir with 67%, Assam with
30.9%, West Bengal with 25.2% and Kerala with 24.7%.

4. Which state has the highest percentage of Jains in India?

a) Delhi

b) Gujarat

c) Madhya Pradesh
d) Maharashtra




ANSWER: d) Maharashtra

Explanation: Maharashtra with 1.3% has the highest percentage of
Jains followed by Rajasthan with 1.2%, Delhi with 1.1%, Gujarat
with 1%, Madhya Pradesh with 0.9%.

5. Which state has the highest Sikhs population in India, as per 2001
survey?

a) Chandigarh
b) Delhi

c) Haryana

d) Punjab

ANSWER: d) Punjab

Explanation: Punjab has the highest Sikhs population followed by
Haryana, Rajasthan, Uttar Pradesh, Delhi, Maharashtra,
Uttaranchal, Jammu & Kashmir, Madhya Pradesh, Chandigarh.

6. Which state has the highest percentage of Buddhists in India?

a) Arunachal Pradesh
b) Maharashtra

c) Mizoram

d) Sikkim




ANSWER: d) Sikkim

Explanation: Sikkim has the highest percentage of Buddhists with
28.1% followed by Arunachal Pradesh with 13%, Mizoram with
7.9%, Maharashtra with 6%, Tripura with 3.1%.

7. Which state has the highest Muslim population in India, as per
2001 survey?

a) Andhra Pradesh
b) Assam

c) Bihar

d) Uttar Pradesh

Explanation: ANSWER: d) Uttar Pradesh

Uttar Pradesh has the highest Muslim population followed by West
Bengal, Bihar, Maharashtra, Assam, Kerala, Andhra Pradesh,
Jammu & Kashmir, Karnataka, Rajasthan.

8. Which state has the highest Jain population in India, as per 2001
survey?

a) Chhattisgarh
b) Delhi

c) Gujarat

d) Maharashtra




ANSWER: d) Maharashtra

Explanation: Maharashtra has the highest Jain population followed
by Rajasthan, Madhya Pradesh, Gujarat, Karnataka, Uttar
Pradesh, Delhi, Tamil Nadu, Haryana, Chhattisgarh.

9. Which state has the highest percentage of Sikhs in India?

a) Chandigarh
b) Delhi

c) Haryana

d) Punjab

ANSWER: d) Punjab

Explanation: Punjab with 59.9% has the highest percentage of Sikhs
followed by Chandigarh with 16.1%, Haryana with 5.5%, Delhi
with 4%, Uttaranchal with 2.5%o.

5. Consider the following statement (s) related to pillars of human
development.

I. Equity means making equal access to opportunities available to
everybody that opportunities available to people must be equal
irrespective of their gender, race, income and in the Indian case, caste.

I1. Sustainability to the human labour productivity or productivity in
terms of human work that must be constantly enriched by building
capabilities in people.

Which is / are correct option?




Code:

a) Only |

b) Only Il

c¢) Both I and 1I
d) Neither | nor Il

ANSWER : a) Only |




